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AEHI &2 100,000 100,000 0
01 A& HI 100,000 100,000 0
O 3% 2= 254 OIAZEFIMN 2]
100,000, 000& 100,000
o HEEMAY 18,000 51,000 A33,000
401 AIEHIZ 28I 18,000 51,000 /33,000
1T AIZHI 18,000 51,000 /33,000
O e 822 2k 238 UMM
7,000,000 7,000
O & Ha~de 2& 85 ANHEEM
6,000,000 6,000
O 2& KR Z& 1256 T
5,000,000& 5,000
Held t2ng Ex22AY 1,200,000 0 1,200,000
401 AIEHI L 201 1,200,000 0 1,200,000
01 A& HI 1,100,000 0 1,100,000
O e d=11w MItE 3 At 1,100,000,000 1,100,000
02 Zeltl 100,000 0 100,000




D AE Al
__‘: EEA'/\“:‘_Fal
A2 E2ERANES

(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O Y =110 Mot ZAH(Z2dl)
100,000,000 100,000
HEEZ S E2RANESE 867,840 1,082,840 A 215,000
SHEEZ SAEBE=AIY 357,840 197,840 160,000
201 et 9| 26,400 26,400 0]
01 AP 2t 2| H| 2,400 2,400 0
O STEE MIIQFBE HY 242
2,400,000 2,400
02 E32%H| 24,000 24,000 0
O BHHE (JIRE) & S2RIBEIAMNELA 2
222 24,000,000 24,000
401 Al HI L 2 0HHI 331,440 171,440 160,000
01 A& H| 330,000 170,000 160,000
O sOHEEZZ SNESAMY(HEEME, JIEA
o, BHAY, UHYXH, STFY S)
150,000,000 150,000
O 2ok X272 sHEEZ22012 4 ti=2 &
HIAFS 30,000,000& 30,000
O &s sHEE=2 202588 =2 AHIAY
20,000,000 20,000
O &E &Y sHEZZ HUHIBAH
130,000,000 130,000
03 AlE 21| 1,440 1,440 0
O sHEELZ SANES=AY AIE20|
1,440,000 1,440
sSHEEZ E2RAESL 2L 10,000 10,000 0
206 M = Hl 10,000 10,000 0
01 X2 H| 10,000 10,000 0
O 284 HMRLY(2BstE, PR S)
10,000,000& 10,000
SHEZZ OIAZEE MR AY 110,000 498,000 A 388,000
401 AlEHIZL 201 Y| 110,000 498,000 A 388,000
01 Al&H| 110,000 498,000 A 388,000
O &E A28 2 &2 IAEEGMRD]
110,000,000 110,000
SHEEZ IJEESMALY 50,000 122,000 AT72,000
401 Al HI L 2 0HHI 50,000 122,000 AT72,000
01 A& H| 50,000 122,000 AT72,000
O e oA sHELZ 10286 XA M
5,000,000& 5,000
O 846 &2 sHEEZ 10188 AEEM
3,000,000& 3,000




PN AL AID
. T2 A2
tel: sHEEZZ E2RAES

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
O G vE sHEER 20686 A E M
32,000,000 32,000
O G g sHE=EE=2 10186 AEEM
10,000,000& 10,000
2 sHEEZ EHIIAY 50,000 60,000 A 10,000
401 AlEHIZL 201 Y| 50,000 60,000 A 10,000
01 Al&H| 50,000 60,000 A 10,000
O =25 sHEEZ EHIIIAY 50,000,000 50,000
SHEEZ T 2H Al2IBEEAY 10,000 10,000 0
401 AlEHIZL £ 0HY| 10,000 10,000 0
01 A&l 10,000 10,000 0
O sO= 0IHE S22 AM2IBEAMY(100HSH)
10,000,000 10,000
S =2 3| 220,000 25,000 195,000
201 Bt 10,000 5,000 5,000
02 22| 10,000 5,000 5,000
O HEXE RANEx 10,000,000 10,000
206 M = Hl 10,000 0 10,000
01 T2l 10,000 0 10,000
O otz == &8H| NP2 10,000,000& 10,000
401 Al HI L 2 0HHI 20,000 20,000 0
01 Al 20,000 20,000 0
S S2FH|(RHXY)
2,000,000& * 100H=™ 20,000
405 XH&HF S HI 180,000 0 180,000
01 XA E B F S| 180,000 0 180,000
O Safti® X2 BH(158) 150,000,000 150,000
O SHolfftHz ASATZ) R 30,000,000 30,000
we yueEHdsA 40,000 40,000 0
401 AlEHIZL 2 0HY| 40,000 40,000 0
01 Al& H| 40,000 40,000 0
O 2E S0EE2 ASY I ¥ HABY
40,000,000 40,000
SEANES(WN10MA) HIIGHEAEA A (L H|) 20,000 20,000 0
401 AlEHIZ £ 0HY| 20,000 20,000 0
01 Al&H| 20,000 20,000 0
O 3BANES(NE10MA) HIIHNEH 2H
20,000,000 20,000
sHEEZ ST H 150,000 301,000 A 151,000
SsHEEZ S 2EIETH AY 150,000 200,000 A 50,000




2N

AE T Al D

Y T2 AL
Sl SOEER HEE CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
401 Al& Bl & 28I 150,000 200,000 A 50,000
01 A& HI 150,000 200,000 250,000
O (F)R4aW FHISA 100,000, 000& 100,000
O &8 43 sHEZZ 201548 EZEHIA
50,000,000& 50,000
Helol etd &2 20,000 0 20,000
HEl0IEE+9 e 20,000 0 20,000
Helol E579 w22 20,000 0 20,000
401 Al& I 28I 20,000 0 20,000
01 A& HI 20,000 0 20,000
O HElolEEa+Y SFNESAG (L=, It
cYyy, ZEXE 5) 20,000,000& 20,000
S AR 6,512,090 6,952,090 A 440,000
= 110,000
s 2,090,000
< 348,000
s 3,964,090
ZHEANEE 2l 90,090 90,090 0
THEANEE A2 28,900 28,900 0
101 @124l 4,800 4,800 0
M4 II2HHZ22NSES 4,800 4,800 0
O Z2HaEZ, 23 s §x=HAH 2R
4,800,000 4,800
201 Let24d] 21,600 21,600 0
01 At 2teltl 1,200 1,200 0
O 0len 24 MI|QEB| (8 +42
1,200,000& 1,200
02 =224l 20,400 20,400 0
O 3322 % MA(2= S) 20,400,000 20,400
202 Odl 2,500 2,500 0
01 =S LHYI 2,500 2,500 0
O sgZns o (2U) 2,500,000& 2,500
2 HEANE 2E 21,190 21,190 0
201 L2l 19,270 19,270 0
01 At 22l 19,270 19,270 0
O zZ2elde gt 5 B10=
1,875,000& 43| x201 At 15,000
O ZHERAS E&+Y 2,520,000& 2,520
O =&l 1,750,000& 1,750
202 O4dl 1,920 1,920 0




2N
X ZH -
L= B

el

AE T Al D
S ADHE
ZAHEANEZE 22

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 2L I 1,920 1,920 0
O ZHEANLAIEE HH 1,920,000 1,920
TAIHEEHESHA(UPIS) E SR22 40,000 40,000 0
201 2Et2A Y| 40,000 40,000 0
02 222 40,000 40,000 0
O SANHEAESHMH(UPIS) KX 22
20,000,000 20,000
O B4t S22 A AE (KRAS) S X222
20,000,000 20,000
DHEAIE AL 3,050,000 3,250,000 A 200,000
ZHEAE RAEAIE 400,000 400,000 0
401 Al HIZL 2 0HY| 400,000 400,000 0
01 Al&tl 400,000 400,000 0
O ZHEE2 AHY(AEZHH|, OtA2EAMNLD],
=S 5) 400,000,000 400,000
ZHEAE EDI0IESE EX L A=S0H LY 200,000 200,000 0
401 AlEHIZL 201 Y| 200,000 200,000 0
01 Al Hl 200,000 200, 000 0
O &J|I0&Ed EX &L H2S0HY
200,000,000 200,000
HE 2 WA ANA 300,000 450,000 A 150,000
401 A& HI L 2 0HHI 300,000 450,000 A 150,000
01 Al& H| 300,000 450,000 A 150,000
O FTZ21X-~DS2ZHE 2t PHEEZR HE (2
AbHl) 300,000,000& 300,000
HEN-DOIZR~E2EEZ 2t HEECZ HEAY 550,000 1,000,000 A 450,000
401 Al HI L £ 0HHI 550,000 1,000,000 A 450,000
01 Al& b 550,000 993,700 AN443,700
HED-DOIR-2RZ 2 HETZ WA (4%
2) 550,000,000 550,000
AEsNHdEHZZ 2L ZHETZZ WEAY 500,000 0 500,000
401 AlEHIZL £ 0HY| 500,000 0 500,000
01 Al&EH| 500,000 0 500,000
O HED-H2AZR 2 2AHAC2 WL (24
dl) 500,000, 000& 500,000
HdZ2 W AFSA OB 600,000 0 600,000
401 AlEHI 2L 2 0HY| 600,000 0 600,000
01 Al&H| 600,000 0 600,000
O 22 L AFSX Y 600,000,000 600,000
s Z2ACHE MEBH 249 500,000 0 500,000




2N

X ZH
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el

HE T A
DAY
T HEANEAMS

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
401 AlEHIZL 2 0HY| 500,000 0 500,000
01 Al&H| 500,000 0 500,000
O &5 Z22AHE MEH 249
500,000,000& 500,000
S A TH A AL 2,983,000 3,575,000 A 592,000
= 2,090,000
= 348,000
= 545,000
SAHMSYANA(Z/2E) 2,983,000 3,575,000 A 592,000
= 2,090,000
= 348,000
= 545,000
101 e1214| 120,758 120,758 0
04 JI2ZtHIZ2Z2NEES 120,758 120,758 0
O SAMHMIALAE HAEHE JI22
3,500,000 x1H x12& 42,000
O SAMMIAAE 2CIHOIH JI23
2,500,000 2 x12& 60,000
O 4eg=z2 001222 2) 15,158,000 15,158
O SATHMMXKAAE JI2PH 22X 202 04 -]
100,000 *3H 13| x123] 3,600
201 LBt 9 ]| 30,400 31,400 A 1,000
01 AP 22| H| 17,400 23,400 A 6,000
O 2| 15,000, 000& 15,000
O d2J 248 & N2 2,400
02 2=2=24%H| 3,000 3,000 0
O SAMMISLAEH 2222 ¢
250,000 x12& 3,000
03 A2 H| 10,000 5,000 5,000
O S ATHMX K HE A 10,000, 000& 10,000
301 et M= 4,000 4,800 A 800
09 #HAIAHIXIE 2 4,000 4,800 A 800
O EAMMD=E L SHAIRAX AH A&
20,000 %202 x103] 4,000
401 A& HIZL 2 0HY| 2,817,842 3,413,042 A 595,200
Fag 2,090,000
& 348,000
o 379,842
01 Al& H| 2,817,842 3,413,042 A 595,200
O EAMHMESAIS 2,817,842,000& 2,817,842
Fag 2,090,000
= 348,000
= 379,842
405 XHA&HF S HI 10,000 5,000 5,000




PN AL AID

M SAONY

CH|: S Al KH A AL (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 AL 2 ZF S| 10,000 5,000 5,000
O SATHMRKAHAEH AFRA &I 7Y
10,000,000& 10,000
PR TN et 389,000 37,000 352,000
= 110,000
= 279,000
409 HAD &X 32,000 37,000 A5,000
201 et | 2,000 2,000 0
02 2% H| 2,000 2,000 0
O 8£9 240 4 AAE A224]
2,000,000& 2,000
401 A& HI L 204 HI 30,000 35,000 A5,000
01 A& H| 30,000 35,000 A5,000
O 88 XI&E HAU MFEX
11,000,000& *2JH 2 22,000
O &8£9 XNE HAN S22 8,000,000& 8,000
2&N=E &2 JI2MZE A elAd] 24,000 0 24,000
101 @124 H| 24,000 0 24,000
04 JI2ZtHIZ2 2 NEE S 24,000 0 24,000
O =2&1NE 22| JI2tH22 X el24d|
2,000,000 *x1H 1201 & 24,000
HEZ F2AE MEH 29 200,000 0 200,000
401 AlEHIZL 201 Y| 200,000 0 200,000
01 Al&H| 200,000 0 200,000
O HE2 A WEH 3
200,000,000 200,000
Z2Z2AHAIAIE EHEASE(2H]) 133,000 0 133,000
= 110,000
= 23,000
401 Al HI L 2 0HHI 133,000 0 133,000
= 110,000
= 23,000
01 Al&H| 133,000 0 133,000
O Z2Z2FXTAHAT S A (2H])
100,000,000 100,000
= 80,000
= 20,000
O 849 XEHAC ESAHS(Z2H])
33,000,000 33,000
= 30,000
= 3,000
S MA 25 9,112,272 9,794,100 A 681,828
= 1,634,711
o=} 1,586,000




AN AL AT
HE: sABMAYS
SEERT=BIITE X CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o 5,891,561
st H 1,998,000 1,965,000 33,000
LAAL2 sIEL HUAIY (2/2SHE) 1,808,000 1,895,000 A 87,000
401 Al HI K 201 I 1,808,000 1,895,000 A 87,000
01 A& HI 1,800,000 1,887,000 A 87,000
O &¥ss 210,000
— FE ANIT BLZ TUIZM
40,000,000& 40,000
~ mE B2 WAR FHIA
40,000,000& 40,000
— XHE 32T B4R FUIDA
45,000,000& 45,000
— &5 9H3F == U SA
40,000,000& 40,000
— &5 S4te] =2 FHI3A
45,000,000& 45,000
O 2Hekg 185,000
— 2ot CHEOS =2 HHIZA
40,000,000& 40,000
— 24 2EOS =2 U S A
40,000,000& 40,000
— B RE BHSZ FHIA
30,000,000 30,000
— 2ot X =2 HHIZ A 26,000,000 26,000
— 2 AEOIE S2EHESA
49,000,000& 49,000
O ues 180,000
— g dIi0te s2ZXZE & =2 EHl3
At 40,000,000& 40,000
— Y & E0S =2 ZHISA
50,000,000& 50,000
— Y S=20i2 =2 ZHIZA
40,000,000& 40,000
— Y HX0S €882 ZHISA
20,000,000& 20,000
— Y Jtst Bi=2 &EHIZ A 30,000,000& 30,000
O sS4tH 185,000
— B4t QA0S =2 ZHHIZA
80,000,000& 80,000
— ¢ FE0S Y2 HHIZA
15,000, 000& 15,000
— 84 2FER LHTY FUIDA
30,000, 000& 30,000
— E& BI0S Eti+==2 ZJHISA
60,000,000& 60,000
O ered 175,000
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AN AL AT
BH: soAMAYs
& sgolgtxd
= _ — SHE]|
SA - BB B () - MM - BES Ol &t o e
— Qr2k GHE B2 HHIZAb 20,000,000 20,000
— otk =2 =2 FHIZE AL 25,000,000& 25,000
— otk st B2 HHIZ A 80,000,000 80,000
— oFek JI& Hi=2 FHIZ AL 50,000,000& 50,000
O &¥sH¢ 180,000
— &3 U022 Et=2 JHIZA
30,000, 000& 30,000
— &3 2E0tES =2 ZHIZA
50,000,000& 50,000
- IS =2S02 842 IUBA
50,000, 000& 50,000
— &= 3 Eti==2 FHISA
50,000, 000& 50,000
O =EH 170,000
— &4 H=S0t= th==2 EHISAM
30,000,000& 30,000
— ZE 84302 =2 HHIZA
20,000,000& 20,000
— 8 S20tS Eti+==2 FHISA
40,000,000& 40,000
— ZE HE0S =2 HHIZA
20,000,000 20,000
— ZE NAOS =2 HHIZSA
20,000,000& 20,000
~ ZE SU0IE SS0 BUIZA
40,000,000& 40,000
O sxd 70,000
— X UHE1P s2EZ 2 42 ZHl=
At 70,000,000& 70,000
O 24H 175,000
— 24F LHote] =2 FHISA
90,000, 000& 90,000
— 24 4Tt0tE th=2 HEHIS A
50,000,000& 50,000
— 24 SHel =2 FHISA
35,000, 000& 35,000
O 3&d 180,000
— 3S|& CHelots =2 HHIZSA
90,000,000& 90,000
— 3d 9E0ts sZZE A
90,000,000& 90,000
O 28 s2 22=7(10018Y)
50,000,000& 50,000
O #I8 Eti+2 82=72(101SH)
40,000,000 40,000
03 AIE 2 THHI 8,000 8,000




AN AL AT
HE: sABMAYS
el medBEY (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O 8¢ 472 sgIIEHEIAMY ALRUHYI
8,000,000& 8,000
EA B2 EIBE EEAY 60,000 60,000 0
401 Al HI K 201 60,000 60,000 0
01 A& tI 60,000 60,000 0
O EA Etl=2 EIXNE ZF4AH
60,000,000 60,000
ST MADI B FHIALY OIEEX 24 30,000 10,000 20,000
401 AIEHI L 2CHYI 30,000 10,000 20,000
01 A& HI 30,000 10,000 20,000
O s ADIEE HHIALY 012 EX 24l
30,000,000& 30,000
X Hel SXNHEM HotE 0/B 5 100,000 0 100,000
401 Al HIZ 201 8] 100,000 0 100,000
01 A& HI 100,000 0 100,000
O ZXFZel SXNHEAM LS 0/B 2
100,000, 000& 100,000
= ADBHE I 1,871,500 1,021,500 850,000
< 980,000
e 891,500
=clAlE |X2e 214,500 233,500 A 19,000
201 L4l 38,500 37,500 1,000
01 At 22l 31,000 30,000 1,000
O el 21,000
— 22 tiaEZd MIjorMae () e
=2 6,600,000 6,600
— ANE HiaEZE MI|orM2(0e) e
=2 3,600,000 3,600
— UM BiEZE o 400A ®)jerEae|(
M) Udsa2 3,600,000 3,600
— B¢ WS ¥ Moot () O
HE2 3,600,000& 3,600
— EE QU ALT 9 8 IIGFBRA(HY
) HEx2 3,600,000 3,600
O =clAIZ8&Hl RS> L et H|
10,000, 000& 10,000
02 232gHl 7,500 7,500 0
O 3222 2 HA(EI & 2223)
7,500,000& 7,500
401 AIEHI L 2 CHYI 176,000 196,000 220,000
01 A& HI 176,000 196,000 220,000
O =clANE RAE=(M=X, &M, L=
&, HEad) 70,000,000& 70,000
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N AEZA
BH: soAMAYs
CHol: oM Al B R Y| (el:de)
SA - BB B () - MM - BES Ol &t o San HmEET
O sSYMLUIBAL(2H, s+ S 222>
)R A 30,000,000& 30,000
O M=Kl ZUHHEA AHI (20 &)
66,000,000 66,000
O M=Kl =8I K2l (6HA)
10,000, 000& 10,000
M=K, XM =2 MAHAAMG 88,000 88,000 0
401 AIEHIZL 20HEI 88,000 88,000 0
01 A& tl 88,000 88,000 0
O M=K, d=H ESHAAML (=X, S=x
M 100HSH) 88,000,000 88,000
a2 Kot SSEXA 24 100,000 100,000 0
401 AIEHI L 20 100,000 100,000 0
01 A& tl 100,000 100,000 0
O g2d Xots= d&XZA Y
100,000, 000& 100,000
M HSH AlZ2el =28 HESMG(Z/2E 863,000 200,000 663,000
HE)(HEAY)
< 560,000
s 303,000
401 A& HIZ 201 I 863,000 200,000 663,000
< 560,000
s 303,000
01 A& HI 795,500 199,000 596,500
O E& HSH AlZ2el s=elAdE HE=AY
795,500,000 795,500
< 506,000
s 289,500
02 Zeltl 64,500 0 64,500
O 84 HHSH Alz2el elAE8 HESAE
AEASE e EF 64,500,000 64,500
< 51,600
e 12,900
03 Al 2 THHI 3,000 1,000 2,000
O A& 3,000,000& 3,000
< 2,400
[ia 600
8 HEM Azl 2 WES=ME(Z/2S 150,000 0 150,000
M) (HEAY)
< 120,000
s 30,000
401 A& HIZ 201 I 150,000 0 150,000
= 120,000
s 30,000
01 A& HI 140,000 0 140,000
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AN AL AT
BH: soAMAYs
© s MAIBHEH| (&)
SA - BB B () - MM - BES Ol &t o San HmEET
O Z8 HEM Azl s=elAE HE=AMY
140,000, 000& 140,000
= 112,000
s 28,000
02 Zeltl 5,000 0 5,000
O Zeltl 5,000,000& 5,000
= 4,000
s 1,000
03 Al S THHI 5,000 0 5,000
O =20l 5,000,000& 5,000
= 4,000
s 1,000
A 2 A2 22AE HESAND(E/BS 375,000 0 375,000
HE)(HEAY)
< 300,000
s 75,000
401 AIEHI L 20 375,000 0 375,000
< 300,000
s 75,000
01 A& HI 340,000 0 340,000
O &a 2N Az 2lAlE HEArY
340,000, 000& 340,000
< 272,000
[ia 68,000
02 Zeltl 30,000 0 30,000
O Zaldl 30,000,000& 30,000
< 24,000
i 6,000
03 Al S THHI 5,000 0 5,000
O =20l 5,000,000& 5,000
< 4,000
[ia 1,000
8 AN Alz2el =2lAld HES 81,000 0 81,000
401 AIEHI L 2 CHYI 81,000 0 81,000
01 A& HI 76,000 0 76,000
O EE AN AMZ2el =clAlE HE=
76,000,000& 76,000
02 2teldl 5,000 0 5,000
O Zeldl 5,000,000& 5,000
HH ==K & AL 1,764,711 2,630,000 A 865,289
= 1,634,711
s 130,000
g2 2L£235 130,000 130,000 0
401 AIEHIZL 2 0] 130,000 130,000 0
01 A& Hl 130,000 130,000 0
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el

AL T AT
SEEREE-!

BH == OH &1 AF S

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
O 82 FXE3F AY 130,000, 000 130,000
A AFARXI R HH SO AR (=) 1,634,711 2,500,000 A 865,289
= 1,634,711
401 Al Bl 28I 1,634,711 2,500,000 A 865,289
= 1,634,711
01 A& tl 1,554,000 2,394,000 A 840,000
O 2Hob aHAXI 2 B ==OH & AR
1,554,000, 000& 1,554,000
= 1,554,000
02 Zeltl 80,000 100,000 220,000
O Zeldl 80,000,000& 80,000
= 80,000
03 Al 20l 71 6,000 25,289
O AlZ=20Hbl 711,000& 71
= 71
sSESHYE 2,019,461 2,343,000 A 323,539
SEMBHATL (BLUH B2HL) (/2SS 400,000 50,000 350,000
401 Al& Bl & 28I 400,000 50,000 350,000
01 A& HI 400,000 50,000 350,000
O g8 &% &1 400,000,000& 400,000
HE QMXT NESLBLNLAR(2/2SES)(H 1,369,461 1,769,000 399,539
BHANY)
401 Al HI & 28I 1,369,461 1,769,000 A 399,539
01 A& HI 1,264,000 1,669,000 A 405,000
O &8 R8I F NESELHLAM
1,264,000,000& 1,264,000
02 Zteltl 100,000 100,000 0
O Zealdl 100,000, 000& 100,000
03 A& =TI 5,461 0 5,461
O =20l 5,461,000 5,461
Or HISK P NES+E2Y WEAMS(2/2EXE) (A 250,000 0 250,000
BHANY)
401 Al HI L 2 THHI 250,000 0 250,000
01 A& Bl 235,000 0 235,000
O ot HSAF NESE2Z LA
235,000, 000& 235,000
02 Zeltl 5,000 0 5,000
O Zeldl 5,000,000& 5,000
03 Al =20 HI 10,000 0 10,000
O =20l 10,000, 000& 10,000
sXIIgtEd 1,200,000 1,676,000 A 476,000
< 516,000
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AN AL AT
HE: sABMAYS
& sXolexy (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o 684,000
IHSERZ 2R (Z/2SHE) (HEMY) 600,000 1,200,000 A 600,000
401 Al HIZ 201 I 600,000 1,200,000 A 600,000
01 A& HI 600,000 1,200,000 A 600,000
O JIHs B2 LAY 600,000,000& 600,000
5 X U728 ANFeAAG(Z/2S588)(H 500,000 476,000 24,000
EHAY)
< 430,000
s 70,000
401 Al HI K 201 I 500,000 476,000 24,000
= 430,000
s 70,000
01 A& Bl 455,000 476,000 A 21,000
O &5 9P 7e BXNE2IAML
455,000,000 455,000
< 391,300
s 63,700
02 Zteltl 40,000 0 40,000
O Zeltl 40,000,000& 40,000
< 34,400
[ia 5,600
03 AlE =TI 5,000 0 5,000
O =20l 5,000,000& 5,000
< 4,300
s 700
a5 stEXF HRE XNFe(MNEMS)AE (Z/2 100,000 0 100,000
S (HSAY)
< 86,000
e 14,000
401 A& HIZ 201 8] 100,000 0 100,000
< 86,000
i 14,000
01 A& HI 95,000 0 95,000
O ¥2 BEXNT WRHIXZ 2 (AEH)A
& 95,000,000& 95,000
< 81,700
[ia 13,300
03 AlZ S THHI 5,000 0 5,000
O AlZ 201l 5,000,000& 5,000
< 4,300
s 700
MUK SXNE= 158,600 158,600 0
SR ANEE RANES 158,600 158,600 0
201 Let24d] 38,600 38,600 0
02 =24l 38,600 38,600 0
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AN AL AT
HE: sABMAYS
el JaAdEsI FAES (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O 23223 % HMA 38,600,000& 38,600
401 Al HIZ 201 8] 120,000 120,000 0
01 A& HI 120,000 120,000 0
O AN&E=2 |RAE=H 100,000, 000& 100,000
O &8&5=s2 RAE* 20,000,000& 20,000
ZDlet i 100,000 0 100,000
< 90,000
i 10,000
e WX+ 2018 HUAMG(S/2SHE) (M EA 100,000 0 100,000
o)
= 90,000
i 10,000
401 AIEHI L 20 100,000 0 100,000
< 90,000
[ia 10,000
01 A& tl 85,000 0 85,000
O Y E&EX7 €I/18 FHIAY
85,000,000& 85,000
< 76,500
s 8,500
02 Zeltl 10,000 0 10,000
O Zeltl 10,000, 000& 10,000
< 9,000
e 1,000
03 A& S THHI 5,000 0 5,000
O 20l 5,000,000& 5,000
< 4,500
s 500
Fgd ZotAER =4 2 22 3,014,000 2,339,000 675,000
s 2,250,000
[ia 764,000
dd8 ZotAER =4 464,000 214,000 250,000
A48 ZotAER 24 314,000 14,000 300,000
201 Let24E] 10,000 10,000 0
01 At 221l 10,000 10,000 0
O £e2d9t| 2,000,000 2,000
O 3l ZotAER2 2223 7€
3,500,000 3,500
O XM aadr A2 0d, HIME I
ERE+E S 4,500,000 4,500
202 04l 4,000 4,000 0
01 = LH 4 Hi 4,000 4,000 0
O Hg& ZotAER Z2FX 0ol
4,000,000& 4,000
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2N
X ZH -
L= B

el

= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
401 Al HIZ 201 Y| 300,000 0 300,000
01 A& HI 300,000 0 300,000
O B2 ZotAER2 Z4AY EXOYH
300,000, 000& 300,000
ZotAEE2 AKX 150,000 200,000 A50,000
401 Al HI L =2 Tl 150,000 200, 000 £50,000
01 A& Hl 150,000 200,000 50,000
O etk JIADIS B2 EHIAIY
35,000,000& 35,000
O ot HISOtE S22 0l& At
35,000,000& 35,000
O etk SHOtS 2 EHIAY  40,000,000& 40,000
O ZotA~SEHAZYHI ATHIAMNY
40,000,000& 40,000
X0 Abel (2HI) 2,550,000 2,125,000 425,000
s 2,250,000
s 300,000
PCHE XNAEE SLYFSA(Z/ZS) 850,000 364,000 486,000
s 850,000
401 A& HIZ 201 Y| 850,000 364,000 486,000
s 850,000
01 A& HI 849,000 364,000 485,000
O REUHE XNz HEIISAH(SEEN)
849,000,000 849,000
s 849,000
03 Al 2 THHI 1,000 0 1,000
O AM&E=20Ul 1,000, 000& 1,000
s 1,000
EQANE gu(gw) HdAE (2/2S) 1,400,000 1,331,000 69,000
s 1,400,000
401 Al HIZ 201 8] 1,400,000 1,331,000 69,000
as 1,400,000
01 A& HI 1,397,500 1,326,208 71,292
O EQAE YD (0) HEAML (4TS
&) 1,397,500, 000& 1,397,500
as 1,397,500
03 Al 2 THHI 2,500 4,792 AN2,292
O AIZ 201l 2,500,000 2,500
s 2,500
s REHE NP2 RNES 300,000 0 300,000
401 AlEH L2 0hYI 300,000 0 300,000
01 A& Hl 299,000 0 299,000
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2N

e

=T

Al

ni;

M HYZX ZotAEE =4
S XIS AL (24 (e &)
SA - HB . B (3 A - BAS o AF o San H D2
O Rcde Xl S Ae

299,000,000& 299,000
03 A& 2 0HbI 1,000 0 1,000

O AM&E20UbI 1,000,000& 1,000
HHSHAH (AL A 243,760 243,100 660

& 95,000

= 148,760
Jl2 &bl 148,760 148, 100 660
Jl2&dl / =02 58,160 55,500 2,660
201 et A | 45,000 40,000 5,000
01 AFR2 2t 2l Y] 40,000 35,000 5,000

O 2tEtx=2H| 33,000,000& 33,000

O =&l 7,000,000 7,000
02 3524l 5,000 5,000 0

O 222 ¢ WA 5,000,000& 5,000
202 04| 8,000 8,000 0
01 2LHOHI 8,000 8,000 0

O g2=& oddl( 8,000,000 8,000
203 &R =&H| 5,160 7,500 N 2,340
04 EANSHLERF=AH 5,160 4,200 960

O BEAN2EYERE 5,160,000& 5,160
Jl2&ddl /| T 2AI4 18,500 20,500 A 2,000
201 et A | 12,500 12,500 0
01 AFR2t2l bl 12,500 12,500 0

O 2Etx=2H| 6,500,000& 6,500

O =&l 6,000,000& 6,000
202 (4] 6,000 8,000 A 2,000
01 2LHHI 6,000 8,000 A 2,000

O g2x=& bl 6,000,000& 6,000
Jl2ZHl / S AITHA 28,200 28,200 0
201 et A | 18,200 18,200 0
01 AFR2t2l Yl 18,200 18,200 0

O gEt=2H| 710,000 x2& x103] 14,200

O =&l 8,000& *5% 1004 4,000
202 04| 10,000 10,000 0
01 =2LHOHI 10,000 10,000 0

O gfF=d oyl 10,000, 000& 10,000
Jl2&dl / sgo|et 19,200 19,200 0
201 et A | 11,200 11,200 0
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2N
X ZH -
L= B

el

AT A D
HYSAZH (HETAIDL)
=23

SA BB O () - NRAY - HES il
01 At 2t 2|l 11,200 11,200
O =&Yl 7,200,000& 7,200
O =&l 4,000,000& 4,000
202 44| 8,000 8,000
01 =S LHA YI 8,000 8,000
O g2=2& ol 8,000,000& 8,000
Jl2&dl / 28tA 24,700 24,700
201 LBt2d| 18,700 18,700
01 At 22|l 15,700 15,700
O get+=ZHl, XNGMWLEAMYE d2310=2, &9
A3 = 10,000, 000& 10,000
O gfF& =gl 5,700,000& 5,700
02 8323l 3,000 3,000
O 3522 % MA 3,000,000& 3,000
202 04 HI 6,000 6,000
01 SLHAHYI 6,000 6,000
O g2=2& ol 6,000,000& 6,000
A2l 95,000 95,000
= 95,000
AP (=2 ¥)(ZHl) 95,000 95,000
= 95,000
101 124 dl 95,000 95,000
< 95,000
03 B3R (RIHL)22X 95,000 95,000
O oE2gul(&=z 95,000,000& 95,000
< 95,000
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